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Multiple Choice (1 point each)

Identify the letter of the choice that best completes the statement or answers the

question.

1. Suppose Ethan increases his working hours when obtaining higher hourly pay. Which of the
following statement(s) is (are) correct?
(i) Leisure could be an inferior good to Ethan.
(ii) Leisure could be a normal good to Ethan.
(iil) Leisure could be a Giften good to Ethafi.
A. (i) and (iii)
B. (ii)
C. (i) and (i)
D. (i), (i), and (iii)

2. Which of the following statement(s) is (are) correct when a government imposes tax on a good?
(i) When supply is perfectly inelastic, imposing tax on eonsumers creates zero deadweight loss.
(ii) When demand is perfectly elastic, imposing tax makes the market price of the good unchanged.
(iii) When supply is perfectly elastic, and demand is perfect inelasticy’imposing tax makes the
market equilibrium quantity unchanged.

A. (i) and (iii)

B. (i)

C. (i) and (i)

D. (i), (ii), and (iii)
3. Which of the following statement(s) is(are) correct?
(i) A monopoly firm can increase its revenue by raising the price when demand is perfectly inelastic.
(ii) When marginal cost is zero and demand is linear, a monopolistic competitive firm will produce
at the midpoint of the demand curve.
(iii) A perfect competitive firm produces at the point that price elasticity of demand equals one.

A. (i) and (iii)

B. (ii)

C. (i) and (i)

D. (i), (ii), and (iii)
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4. Assume Ethan’s preference on two goods, X and Y, follows typical assumptions in Economics.
His budget constraint is 2X + 4Y = 20, and his optimal consumption bundle is (2,4). Which of
the following consumption bundles is possible to give the same utility level to Ethan as (2, 4)?
A.(3,7)
B. (5, 2.5)
% C. (0.5, 4)
D. (1, 7)

5. Town A has only three residents. They are deciding whether to spend § 450 to provide a public
good. The public good will only be provided when all of three residents agree to do it. The value

of the public good to each resident is:

¥ P S
Resident A | Resident B™,. “Resident C
F i e ..ok %

i i iii

i

What is a possible bundle of (i, ii, iii) that this public good will be provided?
A. (0, 0, 460)

B. (100, 150, 130)

C. (120, 150, 160)

D. (140, 140, 140)

6. When marginal cost exceeds average total cost,
A. average fixed cost must, be falling.
B. average fixed cost must be Tising.
C. average total cost must be rising.
D.

average total cost is falling.

7. If a firm in a competitive market increases production and its marginal revenue remains positive,
raising production will

A. be profitable.

B. cause the firm to incur loses.

C. leave profit unchanged.

D. It is impossible to tell from the information provided.
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____D. decrease in the quantity of aggregate output demanded.

8. When a natural monopoly exists, it is
A. always more cost effective for two or more private firms to produce the product.
B. never more cost effective for two or more private firms to produce the product.
C. always more cost effective for government owned firms to produce the product.

D. never more cost effective for one firm to produce the product.

9. If identical products are sold by firms participating in a market, the market is
(i) perfectly competitive.
(i) an oligopoly.
(iii) monopolitically competitive.

A. (i) or (ii)

B. (ii) or (iii)

C. (i) or (iii)

D. (i) only
10. A profit-maximizing firm in a monopolistically competitive market is characterized by which
of the following?

A. Revenue is always maximized along with profit.

B. Average revenue exceeds marginal revenue.

C. Marginal revenue exceeds average revenue.

D. Average revenue is equal to marginal revenue.

11. Every year more and more purchases are made with credit cards on the Internet. Given this
trend, all else equal, we would expect:

A. the money demand curve to shift outward.

B. the money demand curve to shift inward.

C. a downward movement along a fixed money demand curve.

D. an upward movement along a fixed money demand curve.

12. As a result of a decrease in the value of the dollar in relation to other currencies, American
imports decrease and exports increase. Consequently, there is a(n):

A. increase in short-run aggregate supply.

B. decrease in the quantity of aggregate output supplied in the short run.

C. increase in aggregate demand.
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13. The money demand curve is:

A. downward-sloping because the opportunity cost of holding money is inversely related to the
interest rate.

B. downward-sloping because the opportunity cost of holding money rises as the interest rate
rises.

C. downward-sloping because the opportunity cost of holding money rises as the interest rate
falls.

D. upward-sloping because the opportunity cost of ‘helding money rises with the interest rate.

14. An example of the frictionally ugemployed is a(n):
A. autoworker who is temporarilylaid off because of a decline in sales.
B. geologist who is permanently laid off from an oil company due to a new technological advance.
C. worker at a fast-food restaurant. who quits work and atiends college.
D. real estate agent who leaves a job in Texas and searches for a similar, higher paying job in

California.

15. Suppose that in yeary] ‘an economy produces 100 baseballs that sell for $3 each and 75 pizzas
that sell for $8 each. The next year'the economy produces 110 baseballs that sell for $3.25 each
and 80 pizzas that sell for $9 each. Usiug year 1 as the base/year, the growth rate of real GDP
from year 1 to Year 2 is:

A. 10%.

B. 7.8%.

C. 19.7%.

D. 8.8%.

16. Suppose the economy is in long-run equilibrium. Concerns about pollution cause the govern-
ment to significantly restrict the production of electricity. At the same time, taxes fall. In the
short-run

A. real GDP will rise, and the price level might rise, fall, or stay the same.

B. real GDP will fall, and the price level might rise, fall, or stay the same.

C. the price level will rise, and real GDP might rise, fall, or stay the same.

D. the price level will fall, and real GDP might rise, fall, or stay the same.
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17. Critics of stabilization policy argue that
A. “animal spirits” must be offset by active monetary policy.
B. active monetary policy is necessary for steady economic growth.
C. the lag problem ends up being a cause of economic fluctuations.

D. active fiscal policy is required for steady economic growth.

18. Which of the following contains a list only of things that decrease when the budget deficit of
the U.S. increases?

A. U.S. net exports, U.S. domestic investmentsmll.S™net capital outflow

B. U.S. supply of loanable funds,/U.S. interest rates, U.S. domestic investment

C. U.S. imports, U.S. interest-rates, the real exchange rate.of the dollar

D. U.S. interest rates; the real exchange rate of the dollar, U.S::domestic investment

19. If purchasing power parity holds; then if the price of a'basket of goods in the U.S. rose from
$1,000 to $1,200 and the price of the same basket in Poland rose from 6,400 Polish zloty to 8,000
zloty, then

A. the nominal exchange rate would be unchanged and the real exchange rate would appreciate.

B. the U.S. dollar would appreciate and the real exchange rate would stay the same.

C. the nominal exchange rate would be unchanged and the real exchange rate would depreciate.

D. the U.S. dollar would depreciate and.the real exchange rate would be unchanged.

20. Imagine the U.S. economy is in long-run equilibrium. Then suppose the value of the U.S. dollar
decreases. At the same time, people in the U.S. fevise their expectations so that the expected price
level rises. We would expect that in the short-run

A. real GDP will rise and the price level might rise, fall, or stay the same.

B. real GDP will fall and the price level might rise, fall, or stay the same.

C. the price level will rise, and real GDP might rise, fall, or stay the same.

D. the price level will fall, and real GDP might rise, fall, or stay the same.
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Problems and Short-essay Questions

4

Please answer the following questions IN SEQUENCE. All questions may be answered

in either Chinese or English.

1. Assume a government imposes a tax on the market of good A. The total tax revenue is $500,
and the quantity demanded is 100. Further, the demand is linear and has a slope of —%. The
supply equation is Q5 = 2P .

A. (4 points) What is the price that constfhers pay,after the tax?

B. (4 points) What is the demand equation?

C. (4 points) What is the size of the deadweight loss of the taxation?

D. (4 points) What is the tax burden of consumers?

E. (4 points) Additionally, assume the government imposes this tax to deal with externality
efficiently. What is the size of the externality per outputunit? Is this externality positive or

negative?

2. Consider an endowment economy (an-economy without production). The utility function of
each consumer is U = D ZD;,/ 2, where D, and D, represent demand of*z and y respectively. The
endowment of z is 20 units and that of v is 30 units. Answer the following questions.

A. (5 points) Show that the utility funetion is homethetie.

B. (5 points) Derive the demand of z relative to y as a function of p,/p, where p represents
price.

C. (5 points) Derive the equilibsium levelsof p, 7y,

D. (5 points) Suppose there is another economy, where consumers have the same utility function
but both the endowment of x and y is 30 units. Derive the equilibrium level of p./p, under free

trade.
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3. Given the following information: bank deposits 350, currency-to-deposits ratio 0.20, required
reserve ratio 0.15,

A. (15 points) solve for the monetary base level, the level of bank reserves, and the money
supply level in this economy.

B. (5 points) Suppose there is a sudden rise in the currency-to-deposits ratio, from the original
level of 0.2 to a new level of 0.4. If everything else remains unchanged, find the level of monetary

base needed to keep money supply fixed at the same level.

4. One example of how inflation discourages saving is the tax treatment of capital gains. Suppose
that someone bought a parcel ofdand for $2,000 in 1980 when the-price index equaled 100. In 2018,
the person sold the landfor-$13,000, and the price index equaled 500.“The tax rate on nominal
gains was 20 percent.

A. (5 points) Find the before-tax/real rate of capital gainsi

B. (5 points) Compute the taxes on the nominal gains in terms of 2018 prices.

C. (5 points) Compute the after-tax real value of the land in terms of 1980 prices.

D. (5 points) Find the after-tax real rate of caiptal gains.
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1. Given the following information:

Expected return on Stock A 0.12(12%)

Standard deviation of return on Stock A 0.10

Expected return on Stock B 0.20(20%)

Standard deviation of return on Stock B 0.60

Correlation coefficient of the returns on Stock A and Stock B 0.2

a. What are the expected returns and standard deviations of the following portfolios:

(1) (2 points) 100 percent of funds invested in Stock A?
(2) (2 points) 100 percent of funds invested in Stock B?
(3) (4 points) 50 percent of funds invest€d in.each stoek?
b. (7 points) What would be the impagt'ifthe correlation coefficient were 0.6 instead of 0.27
2. Answer following questions.

a. (5 points) The inventory turnover for an‘industry is'6«(every two months) but Slow Corp. turns over its
inventory 4 times a year (every three months). [f annual sales are $1,000,000 and the interest cost to carry
inventory is 12 percent, what is the potential savings in interest expense if the firm achieves the industry
for the turnover of its inventory?

b. (5 points) If the industry average days sales outstanding is 65 days and a firm with sales of $1,034,550
has receivables of $268,700, how much in interest expense could the firm'save if the receivables turn over
as quickly as the industry average,and the cost of carrying the receivables is 9%?

3. Two stocks each pay a $1 dividend that is growing annually at 8 percent. Stock A has a beta of 1.3; stock B's

beta is 0.8.

a. (5 points) Which stock is more volatile?

b. (5 points) If treasury bills yield*6»pereenit and yotrexpeet-thC market to rise by 12 percent, what is risk
adjusted required rate of return for each stock?

c. (5 points) Using the dividend growth model, what is the maximum amount you would be willing to pay)|
for each stock?

d. (5 points) Why are your valuations different?

4. Answer following questions.
a. (10 points) Define and discuss the Sharpe, Treynor, and Jensen measures of portfolio performance
evaluation, and the situations in which each measure is the most appropriate measure.
b. (5 points) What is the problem with using the Sharpe measure for evaluation of an active portfolio
management strategy?
& @ |70 Egﬁiﬁai% P AT
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5. (10 points) Discuss why common stocks must earn a risk premium.

rates. Explain.

market anomalies and explain why each is considered t6 be atvanomaly.

6. (10 points) Discuss the differences between the capital market line and the security market line.

7. (10 points) Although the expectations of increases in future interest rates can result in an upward sloping yield

curve; an upward sloping yield curve does not in and of itself imply the expectations of higher future interest

8. (10 points) With regard to market efficiency, whatsissmgant by the term "anomaly"? Give three examples of




Byde ke 109258 AL EAARER B4 F KA
%/ R %6 R

A R O# Bl#ItFA R OFT | et R/ REEG X M2 ATB(R) Buf

1. (3pt) If a test of hypothesis has a Type I error probability of 0.05, this means that:
A. if the null hypothesis is true, we don't reject if 5% of the time
B. if the null hypothesis is true, we reject it 5% of the time
. if the null hypothesis is false, we don't reject it 5% of the time
I](;. if the null hypothesis is false, we reject it 5% of the time

2. (3pt) Suppose we wish to test Ho: p =23 vs. Hi: p <23. Which of the following possible sample results gives the
ost evidence to support H;?

. sample mean is 19 and standard error is 5

. sample mean is 20 and standard error is 8

. sample mean is 21 and standard error.is 6

. sample mean is 19 and standard error is 11

3. (3pt) If a random sample of size n=100 fine-dining restaurants is selected and it is found that 45 restrict the use
of the cell phones, give a 99% confidence interval for the true proportion of fine-dining restaurants that restrict the
use of cell phone.

.(0.3219, 0.5781)
fg. (0.3525, 0.5475)
C. (0.2378, 0.4222)
D. (0.2526, 0.4073)

4. (3pt) Which of the following does the Central Limit Theorem allow us to disregard when working with the
sampling distribution of the sample mean?

lA. the standard deviation of the population distribution

[B. the shape of the population distribution

C. the mean of the population distribution

D. all of the above can be disregarded when the Central Limit Theorem is used

5. (3pt) A man with 10 keys wants to open his door and tries the keys at random. Suppose there is exactly one key
will open the door. If unsuccessful keys are eliminated from further selections. Let X be the number of trials to
find the right key. What is the distribution of X?

A. Uniform distribution

B. Geometric distribution

JC. Binomial distribution

D. Negative binomial distribution

i s |7 EEMRBLE . AT
) =~ WMARBMASK -




Bt x® 10024588 BLERALAREI BAFKNHKA

7R %6 R
£ X # H[BIEA %7 5 emd h/pmgEm  F R M2 AT RE) R

6. (3pt) The seasonal output of a new experimental strain of pepper plants was carefully weighed. The mean
weight per plant is 15.0 pounds, and the standard deviation of the normally distributed weights is 1.75 pounds. Of
the 200 plants in the experiment, how many produced peppers weighing between 13 and 16 pounds?

A. 100

IB. 118

C. 197

D. 53

7. (3pt) Which of the following tests is appropriate for data if the problem objective is to compare two populations
and there are exactly 2 categories?

A. The z-test for the difference of two proportions

B. The chi-squared test of a contingency table

C.Both Aand B

D. None of these choices

8. (3pt) In testing the hypothesis Ho: g = 100 vs. Hy: pu > 100, the p-value is found to be 0.074, and the sample
mean is 105. Which of the following statements is true?
A. The probability of observing a sample mean at least as large as 105 from a population whose mean is 100 is

0.074
B. The probability of observing a sample mean sialier.than-105 from a population whose mean is 100 is 0.074
C. The probability that the population mean is larger than 100 is 0.074

D. None of these choices

9. (3pt) The sample size needed to within 10 units of the population mean was found to be 68. If the population

standard deviation was 50, then the confidence level used was

A, 99%
B. 95%
C. 90%
D. 98%

10. (3pt) The SAT scores of entering freshmen at a certain university have mean 1215 and standard deviation 110.
A random sample of 100 freshmen is taken and X is computed. The probability that X less than 1190 is
A. 0.2272

B. 0.1335
C. 0.4090
D. 0.0116
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11. (15%) The weekly oil demand X (in tons) follows the pdf

f(x) = %e-x/ﬂ ,0<x < oo,

F—Xowever, the company can produce at most only 4 tons of the oil per week. Let Y be the oil sold per week.
(a) (3%) Find the probability that the oil will be sold out per week

(b) (7%) Find the cumulative distribution function of Y

(c) (5%) Find E(Y)

12. (20%) Suppose that a random sample of 60 observations was drawn from a normal population. Suppose that
we would like to infer whether or not the observations come from a zero mean and variance one. After drawing
observations randomly, the number of observations in each of the intervals below was counted. Can we infer at the]
5% significance level that the data.were drawn from a hypothesized population? Ps. your answer should include:
(i) the null/alternative hypothesis;(ii) the test statistic: (iii).the decision rule; (iv) the conclusion of the test

intervals | Frequency
(=co,—1] |8
(—1,9]% [30
(0,1] 17
(1,0) 5

13. (15%) Three different models of automobiies (A«.B,.and-C) were compared for gasoline consumption. For each
odel of car, 15 cars were randomly selected and subjected to standard driving procedures. The average

iles/gallon obtained for each model of car and sample standard deviations are shown below. Suppose that the
opulation variances (6 = of = 0/ = oé)ac equal

Car A Car B Car C
Average Mile/Gallon 42 49 44
Sample Standard Deviation 4 5 3

(a) (10%) Let a= 0.05, and see if the mean gasoline consumption for all three models of cars is the same
(b) (5%) Find a 95% confidence interval for (¢ — p,). Please use Qq,ay. to denote the critical value. (you must
specify the distribution Q and value of d.f.)

14. (20%) An insurance company is considering opening a new branch in Lansing. The company will choose the
final location from two locations within the city. One of the factors in the decision is the annual family income (inJ

rlhousands of dollars) from the potential locations.

Suppose that they randomly selected n families from each location (so the sample size is 2n). Let X, and
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X ,, respectively.

Table I: Chi-square table

the corresponding statistics from location B.

population means differ significantly.
(c) (10%) Let Z be 1 if it comes from location B and 0 otherwise. And Y be the income. We fit a simple linear
regression model to this dataset {(Z;43)}i21,..2n and use the least squares method to get the estimated

rule(including the distribution and critical value)

to determine the variances are equal or not?

Uppor tail | 08 0.2 0.1 006 | 002 001 0006 0.001 ]

df 31 241 322 461 589 | 782 92t 1060 1382 |
3| 866 464 N625 T8 | 984 1034 1284 1627
41 488 BOD TR 949 | 1067 (1328 | 1486 1847
5| 600 720 924 1007 t 830 (1500 [ 16.75. 2082
61723 856 1064 1289 | 1503 1681 1855 2246 |
7| 838 980 1202 14.07 | 16.02 18482028 24.32
8| 952 1103 1336 1551 | 1817 2008 2195 2612
9| 1066 1221 1468 1692 | 1968 21.67 2359 2788
10| 1,78 1344 1590 1831 | 2116 2321 2519 20.50
11 | 1290 1463 17.28 19468 | 22.62 _04.72, 26.76 3120
12 | 1401 15681 1845 2103 I“2405 2022 2880 32.91
13 | 1502 1698 1981 2236 | 2547 27.60 2082 34.5%
14 | 1622 1815 2106 2368 | 2687 2904 3132 36.12
15| 1732 1931 2231 2600 | 28.26  30.58 3280  37.70
16 | 18.42 2047 23.54 20.30 | 29.63 3200 3427 3925
17 | 1951 2061 2477 2750 | 31.00 3341 3572 40.79
18 | 20.60 22.76 2699 2887 | 3235 3481 3716 4231
19 | 2169 2390 2720 3014 | 3368 3619 868 4382
a0 | 22.77  25.04 2841 3141 | 8502 4767 4000 4531
35 | 2817 30.68 3438 37.65 | 41.57 4431 4693 52.02
30 | 3353 3625  40.26  A377 | 4706 5089 5367 HHTO
40 | 4406 4727 5181 6576 | 6044 6369 6677 T340
50 | 54.72 586 63.17 6750 | 7261 7615 7949 B6.60

(a) (5%) Suppose that we have no idea whether the variances are equal or not. So how to use a statistical method

(b) (5%) Suppose that the variances are the same. Perform a hypothesis testing to determine whether the

regression equation. Show that the least squares estimates of intercept and slope parameters are X, and X5 —

S, be the sampleimean and the sample standard deviation of location A, respectively. Similarly, Xz and Sp are

Use o = 0.05 to answer the following questions. Please state your answer step-by step, including: (1) the
null/alternative hypothesis; (ii) the test statistic(use ¥ And S to define your test statistic); (iii) the decision
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STANDARD NORMAL TABLE (2)

Entries in the table give the area under the curve
between the mean and z standard deviations above
the mean. For example, for z = 1.25 the area under
the curve between the mean (0} and z is 0.3944.

0.00] 001] 002 0034004 005 006! 007| 008 009

0.0 | 0.0000 0.0040 00080 00120 0.0160, 00190 00239 00279 0.0319 00359
0.1 | 00398 00438 0.0478 /00517 00557 00596 0.0636 0.0675 0.0714 0.0753
02! 00793 0.0832 00871 00910 00948 00987 01026 01064 0.1103 0.1141
03 01179 0.1217 09255 01283 0.1331 0.1368 01406 0.1443 0.1480 0.1517
04| 01554 0.1591 0.1628 0.1664 04700 0.1736 0.9772", 0.1808 0.1844 0.1879
051 01915 01650 0.1985 02019 02054 0.2088 02123 0.2157 02190 0.2224
0.6 02257 02201 02324 02357 0.2380 02422 02454 02486 0.2517 0.2549
0.7 | 02580 0.2611 0.2642 0.2673 0.2704 02734 02764 0.2794 0.2823 0.2852
08 02881 02910 02033 0.2058 0.2995 072023 03051 0.3078 03106 03133
| 0.9 03150 03186 03212 0.3238..0.3264 03289 03315 02340 0.3365 0.3389
10| 03413 03438 023461 03485 03508 0.3513 03554 03577 03529 0.3621
14| 03643 03685 03685 03708 03728 023749, 08770 /03790 0.3810 0.3830
1.2 | 03849 02869 03888 0.3907 03925 0.3944 /03962 03980 0.3997 0.4015
131 04032 04049 (04066 Q4082 0.4098 04115 04131 04147 04162 04177
14| 04192 04207 04222 04236 0.4251 04285 04279 04202 04306 04319
15 04332 04345 04357 04370 04382 04394 04406 0.4418 0.4429 0.4441
16| 0.4452 04463 0.4474 04484 04495 04505 04515 04525 04535 0.4545

171 04554 04564 04573 04582 04591 04589 04608 04818 04625 0.4633
18| 04641 0.4649 0.4655 04664 04571 04678 04686 04693 04699 04706
19| 04713 04719 0.4726 “04732 0.4738™ 04744 04750 0.4756 0.4761 0.4767
20! 04772 0.4778 0.4783 0.4788 0.4793 04798 04803 04808 04812 04817
24| 04821 0.4826 0.4830 04834 04838 04842 04846 04850 04854 0.4857
22| 04861 0.4864 04868 0.4871 04875 04878 04881 04884 04887 0.4830
23| 04893 0.4806 0.4808 0.4901 04904 04906 04909 04811 04913 04916
24 | 04918 04920 04922 04925 0.4927 04929 04031 04832 04934 04936
25| 0.4038 0.4040 0.4041 0.4943 0.4945 04946 04948 04949 04951 04952
2.6 | 04953 04955 0.4956 04957 04959 04960 04961 04962 04963 0.4964
2.7 | 0.4965 04966 0.4967 04968 0.4969 04970 0.4971 0.4972 04973 0.4974
58| 04974 04975 0.4976 0.4977 0.4977 0.4978 0.4979 04879 04880 0.4981
28] 04981 04982 04982 04983 04984 04984 04985 0.4985 0.4086 0.4986
3.0 | 0.4087 0.4987 0.4987 0.4988 0.4988 04989 04989 04889 04990 0.4990
314 | 04930 0.4991 0.4991 0.4991 0.4992 04992 04992 04992 04993 04993
32| 0.4993 0.4993 04994 0.4984 04994 04994 04994 04895 04995 0.4995
3.3 | 04995 0.4095 0.4995 0.4996 0.4996 04996 04996 0.4996 04996 0.4997
34| 04997 0.4997 0.4997 04897 04997 0.4997 04997 04997 04997 0.4998
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Table I1I: F table with a = 0.05
Deneminstor Numerator DF

DF 1 p 3 4 5 6 7 8 9 10

1 161448 199.500 215.767 224.583 230.162 233986 236.768 238 RBY 240531 241 882
2 {R513 19000 19164 19247 19296 19.330 19353 19371 19385 19396
3 10.128 9.552 9277 9117 9.043 8941 8.837 B.845 8812 R8.786
4 7.709 6.944 6,591 388 6.256 6.163 6,004 6.041 £999 5964
5 6608 5786 S409 5192 5050 4950 4876 4RI® 4772 473
6 5687 S.1431 4757 4534 4387 4284 4307 §147 44099 4060
7 5.59% 4.137 4347 4120 3572 3 866 3787 3726 3.677 3637
8 5318 4459 4 066 3838 3 6R7 3581 3 5040 3438 3.388 3347
9 5117 4.256 IRe3 3633 3 4R2 1374 3293 3230 3179 3.137
10 4965 4103 3708 1478 3326 JAal 3135 3013 V020 2978
it 4844 3982 3587 3337 3240 3095 3012 2948 2R%6 2854
12 4.747 3 8R5 31490 3259 3 106 24996 2913 2849 2,796 2.753
13 4667 1806 3411 3179 3005 2915 2532 2.7 2714 2671
14 4.600 317 3.344 3112 2958 2 R4 2764 2699 2.646 2602
15 4543 3682 3287/ 2056 2901 279002707 e, 2588 2544
16 4494 3634 3239 3007 2852 2941 2657 2591 2538 24
17 4450 3592 3197 2865 2810 2690 314 254R 2494 2450
i8 4414 3.555 31860 2928 2773 2.661 2.577 2510 2 45h 2412
19 4381 3312 31427 2 898 2740 2628 2544 2477 241 237
20 4351 3493 3098 2866 3781 2860 | 2514 2447 2393 | 284K
21 4328 3467 3072 28R40 268% 1573 2488 2430 2366 | 2331
n 4301 3443 3049 2817 2681 2549 Q464 2397 2342 | 2207
I3 4279 343 3028 2706 2640 2528 2442 Y78 2320 § A
4 4260 3403 3009 2776 2621 2508 2423 2385 | 2300, 2255
15 4242 3385 2.991 2759 2601 2450 2405 2137 2282 22%
26 4236 3369 2975 2743  2SR7 2474 23R 2321 e, 2220
27 4210 3354 2960 272 2872 238) 23N 21308 02250 2204
18 4196 31340 2947 2714 2558 2445 2359 2 323 2190
19 4183 332 2634 2701 2545 2432 234h 227 X% 21M
30 4171 3306 2927 2490 3834 2431 33 2266 2211 2168
3 4160 3308 2911 2679, 2523 24iM 232% 2258 2w 2083
3 4149 32058 2901 2668 QSITU2380T 23 3, Y244 2189 2142
33 4119 3385  2RYD 2659 250Y 23R 2308 3247 2N

34 4130 3276 2RKY 2650 2awd 2380 2294 222 2470 212}
35 4121 3267 2R 2641 2485 2372 3RS 27 2161 2114
3 4113 3259  2Rab 263 2477 234 22T 2AM 2151 2.1
37 4108 3253 2889 2626 2470 2386 22U 224 2045 209K
38
¥
40

4098 3245  2B32 2419 2463 239 2262 2194 23 2091
4091 3235 2R45 2612 2456 232 2288 RT M 2484
4085 37232 2RI 260h 2449 2336 2244 2IRO 2 iM 2077

41 4079 3226 283 20 244} 230 2342 2174 208 240t
41 4073 3230 2R27T 2804 2438 2324 22V 2R 2012 2068
43 4067 3214 2822 288 243 23 2232 2363 20 o 2054
44 4062 3200 281s 2384 2427 2313 2226 2187 i 2084
48 4.057 3244 2R12 2579 3432 2308 2221 I8 2086 2049
46 4053 3200 2807 257 2417 2304 2216 2147 2091 2044
47 4047 3195 2B 2570 4R} Qe 2212 2143 2086 2D
48 4643 3191 2798 2865 2408 2395 2207 1138 2082 203
49 4038 3IRT 2794 2860 2404 2290 2203 20 201 2080
L1 4034 IR} 2700 2587 2400 2:e 2099 2130 24N 102
& L | EMRELE RFHS ‘
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1. (15%) Statistics and Econometrics
Please describe one assignment or one project you have done for financial analysis, where the assignment or
project needs the estimating methods or the testing methods. Please give the name and the procedure and|
property of the estimation or the testing methods in detail. (15%)
2. (25%) Binomial mode! and no-arbitrage argument
Based on a binomial model and no-arbitragé argument; we.can generalize the no-arbitrage argument just]
presented by considering a stock whose price is S;and an option on the stock shoes current price is f. We
assume that option fasts for time and that during the-iife-of the option the stock price can tither move up from
S, to anew level, Syu, where u>1, or down from S, to'a new level, S,d, where d<1, and u d=1.
If the stock price moves up to Sy , we suppose that thepayoff from the option is f, ; if the stock price moves|
down to S,d , we suppose that the payofT from the option is f, -
up SoU
i
So
J S,d
down o
1. We imagine a portfolio consisting of a long positionin A shares and a short position in one option. Please
Calculate the value of /\ that makes the portfolio riskless. (5%)
2. What is the value of the option f at the one-step binomial tree under the no-arbitrage argument? (5%)
3. What is the value of the option f at the n-step binomial tree under the no-arbitrage argument? (5%)
4. What is the value of the option f at the continuous time under the no-arbitrage argument when the n-step
binomial tree goes to infinity? (10%)
— s BERBHBLE  FFia e
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3. (60%) Black-Scholes Option Pricing Formula

Consider a Brownian motion process {B(¢),f20}. B(0)=0 and B(f) is normal with mean 0 and variance 7,

where its density function is given by

] b /21
PD=——¢
7(8) ~ 27t ’

and the process B(f) has stationary /and independent. increments, where B(f) , B(f,)-B(Y) ,...,
B(t,)-B(t, ) for t <..<t, are_independent and B(f,)— B(f,.,) ~is.normal with mean 0 and variance]

t,—t,_,-Assume B(t)=by B(t)=b,,..., Bli)=D,.

(a). Please give the joint density of /B(1,), B(t,), ..., B(t,). (5%)
(b). Please find the covariance of B(:) and B(s), Cov(B(r),B(s)) where s<t.(5%)

(c). Please find the conditional distribution of B(s) given B(t)=C where s<t.(5%)
Now, let the dynamics of the stock price be S(T )=S(0)exp{(r—0.502)T +O‘B(T)} under the risk neutral

measure at time 7, where S(0) denotes the stock price at time 0, r is the riskless rate, o is the volatility]
of the log stock price under risk-neutral probability measure.

(d). Please find the mean and variance of S(I') under the risk-neutral probability measure. (10%)

(). If the underlying asset of the option is the stock, what is the theoretical value of the stock option with
strike price K and maturity 7 at time O under the risk-neutral probability measure? (Hint: To
derive Black-Scholes Option Pricing Formula.) (10%)

(f). Please find the estimators of , and ¢ by the maximum likelihood estimation (MLE) at the
physical (real) probability measure based on the stock prices data S, i=1,2,..., n for » days. (10%)

(g). What is the implied volatility? (5%)

(h). Please find the implied volatility based on the option price C. (10%)?
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